

[bookmark: _GoBack]Day 4
1. 3/6 of £30 =
2. 2/5 of £60 =
3. 3/8 of £32 =
4. 4/9 of £27 =
5. Jessica has £36. She spends 2/6 of it. How much has she got left?
6. Bryn has £36. He spends ¾ of it. How much has he got left?
7. Joseph had £56. He spent 7/8 of it on straw for Vanilla. How much has he got left?
8. Sofia has £48. She spends 4/6 of it. How much has she got left?
9. Jack has spent 2/8 of his money. He had £40. How much has be got left?
10. Sam has spent 4/8 of his money. He had £56. How much money has he got left?
Challenge:
1. Gianluca has £72. He spends 7/9 of it. How much does he have left?
2. Sophie has £48. She spends 6/8 of it. How much does she have left?
3. Callum has £84. He spends 4/6 of it. How much does he have left?









